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Worksheet 7

Solving Word Problems

Solve.

A large bottle contalns 650 ml of water.
The large bottle contains 435 ml more water than a small bottle.
What Is the volume of water [n the small bottle?

The beaker on the right contains 695 ml less water than a jug.
What Is the volume of water n the jug?
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The capacity of a teapot s 1 L.
The capaclty of the teapot Is 455 ml more than a teacup.
What Is the capacity of the teacup?

o The volume of water In a bucket is 9 L. ‘ k
The bucket contalns 36 [ less water than a tank.
What Is the volume of water In the tank?
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